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6.1 Adding anf&:ht:aging Polynomials

Identify the degree of each monomial.
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Rewrite each polynomial in standard form. Then identify the leading coefficient, degree,

and number of ferms.
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Add or subtract. Write your answer in standard form.
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Find the length of the pool when the w1dth is
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Find each product
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6.3 The Binomial Theorem
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Use the Binomial Theorem to expand each bhinomial.
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6. 4 Factormg Polynomlals
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Fully factor the following polynomiais.
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Factor each polynomlal by grouping.
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Divide by using long division. Write result as (dividend) =(divisor){quotient)+remainder
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Divide by using synthetic division. Write result as (dividend)} = B
(divisor){quotient)+remainder t
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Use synthetic substitution to evaluate P{x) for the given value.

10. P(x)=-3x2+10x -4 forx =-2
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9. Pxy=4x"-9x+2forx=3

Determine whether the given binomial is a factor of P(x).
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